520 Munsell System Y,,=100,
7 ONM,..C=2,V=1,2,5,8&9,
mcs%omaticity (x,y)

CIE 1931 X

X=96,79,Y,=100,00Z,~111,46 B,

Xy=0,3140y,,=0,3243 E

Aq=(ag=[ag n*a0,a*a0,y]) Y
Bo=(bo~[bo,ri+bg a+bo v]) Y
ag = ao [x/y]
bo = byg [2M
ay =1, byp=-0,4

n = Mex
ag,y=ay(Y/Y1g-1)

b, y=boy(Y/Y1-1)
agy=-0,017,bpy=0,012
ag 4=0,000,b0 4=0,000
Munsell System Y,,=100,
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r10

Ao

0 C=2,V=1,2,5,88&9, T-10
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value (Ao, B)
CE680-1A_6 CE680-2A_6
Xw=96,79,Y,,=100,00Z,~111,46 B, Xu=96,79,Y,~100,002,~111.46 B,
¥=0,3140y,,=0,3243 %,=0,3140y,,=0,3243 20
Ar=(ar~[ag n+ay atay y]) Y Ax=(ay-[ag n+ap atap v]) Y
By=(by—[by ntby a*by v]) Y Bo=(ba-[bp ntba Aty v1) Y
ay = ayo [(x-0,17D/y] ay = a0 [(x—0,17D/y] 4
by =byo [ZA =bs0 [(Mpx+bp1)/Y]
A= 1, by = =0,4 A ap0= 1, byp= -0,4 A
mr;=1,000,b 1 Mp;=-0,169,b5,=0,389 2
n = Mex 10 n = Mex -10 10
ay y=apy(Y/Y1g-1) ap y=apy(Y/Y1g-1) e
by y=boy(Y/Y1g~1) by v=boy(Y/Y1-1) 1
agy=-0,013b,y=0,008 agy=-0,013 b,y=0,008
a3 4=0,000,b; 4=0,000 a3 =0,000,b, 4=0,000
Munsell System Y,,=100, Munsell System Y,,=100,
C=2,V=1,2,58&9, C=2,V=1,2,5,88&9, T-10
chromatic value A4, B;) chromatic value (A,, Bo)
CE680-3A_6 CE680-4A_6
Xw=96,79.Y,,=100,00Z,~111,46 B, Xu=96,79,Y,~100,00Z,~111.46 B,
xy=0,3140y,,=0,3243 10 X=0,3140y,,~0,3243 +10
Ag=(ag-[ag n+ag atagy]) Y Ag=(ag~[ag ntay atau vl) Y
Ba=(b3-[b3 n+b3 ath3 v]) Y B=(D4=[bg +bs athy v]) Y
ag = ag [(x-0,171)/y] a4 =ay[(x=0,17D/y] 4
b3=byg [(Mp1x+bp1)/y] bs=byo [(Mp1x-+bp1)/y]
30=1, by=-0,4 A =1, by=-04 /ﬁ A
Mp1=—0,974.5 3 Mpy=-0,169,bp;=0,389 \ i~ A
n = Mex -10 10 n = Mex -10 &G % ' 10
ag y=apy(Y/Y1g-1) ay y=apy(Y/Y1g-1) ex
b y=boy(Y/Y1g~1) by y=boy(Y/Y1-1) 1
agy=-0,013b,y=0,008 agy=-0,013 b,y=0,008
ag 4=0,000,b3 x=0,000 ay o=0,000,b4 ,=0,000
Munsell System Y,,=100, Munsell System Y,,=100,
C=2,V=1,2,5 88&9, C=2,V=1,2,5 88&9, T-10
chromatic value (Ag, B3) chromatic value (A4, Bs)
CE680-5A_6 CE680-6A_6
Xw=96,79,Y,,=100,00,2,,=111,46 B5 Xw=96,79,Y,,~100,00,2,,~111,46 B6
x=0,3140y,,=0,3243 10 X=0,3140y,,~0,3243 +10
As=(35[35,1*35,A*35,y]) Y Ae=(36~[36,1*35,A*36,v]) Y
Bs=(bs—[bs y+bs a+bs v]) Y Bg=(bg—[bg n+bs a*0s v]) Y
ag=a,,(0,861x-0,719~0,026)}] ag=a(Xly]
be=b,,[(0,19%+0,386/-0,240)§] be=boy [(MpX+bp /Y]
a,=1,00,b,=1,00 A a9,=1,00,b,=—0,40 A
Ag,G,y,R=475,503,574,494c, 5 mMp1=-0,974 bp;=0,658 6
n = Mex -10 10 n = Mex -10 10

a5 y=ay(Y/Y1g-1)

bs y=boy(Y/Y1g~1)
ayy=-0,001,b,,=0,000
a5, x=0,000,bs ,=0,000
Munsell System Y,,=100,
C=2,V=1,2,58&9,
chromatic value (Ag, Bs)
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ag y=apy(Y/Y1g~1)

b, y=boy(Y/Y1-1)
a,y=-0,016,5,,=0,006
a5 4=0,000,b5 ,=0,000
Munsell System Y,,=100,
C=2,V=1,2,5,8&9,
chromatic value (Ag, Bg)

CE680-7A_6 CE680-7N

CE680-8A_6




